AIXEIERAKE KEABRAHR(TMSEIAS)

I5H PN KU KGR B pH1E
B BB (°C) (°C) ()
1) 7K 5 4.2 5.6 0.3 1.2
2] K = 7.1 6.6 0.1 7.2
3| & 5 4.6 6.5 0.3 1.2
4] + 5 7.6 6.9 0.2 7.1
5/ H &= 1.2 6.5 0.2 7.1
6| A 5 5.1 6.6 0.2 7.1
7K 5 8.2 6.8 0.2 7.2
8 K 5 9.3 8.0 0.4 7.3
9] K 5 8.0 7.5 0.2 7.1
10| & 55l 12.7 7.9 0.3 7.2
11 =+ 5 115 8.6 0.2 7.2
12| H & 13.3 9.2 0.2 7.2
13 A 55l 8.5 8.8 0.3 7.2
14, X 5 3.5 9.0 0.3 7.1
15| 7k 5 6.8 8.5 0.3 7.1
16| K 5 9.1 8.6 0.3 7.1
171 & = 10.7 8.5 0.2 7.1
18] = 5] 8.4 9.0 0.2 7.1
19 H i 6.5 8.8 0.2 7.2
200 A i 5.1 8.5 0.2 7.1
21 X 5 12.2 9.6 0.2 7.1
22| K 5 16.7 9.4 0.2 7.2
23] K EDHW 14.7 9.3 0.2 7.2
24| & = 16.2 9.5 0.2 7.2
25 & 5] 11.6 10.8 0.2 7.2
26/ H 5] 11.0 10.3 0.2 7.2
27| H 5 10.9 10.0 0.2 7.1
28| X 5 7.3 9.5 0.3 7.1
29| K 5 11.2 10.0 0.2 7.2
300 K 5 11.0 9.8 0.2 7.2
31 = &) 12.6 10.0 0.3 7.0
RANE 16.7 10.8 0.4 7.3
=/ME 3.5 5.6 0.1 7.0
Fi(E 9.4 8.5 0.2 7.2
2E) AT ERKBRKEELN TR ERRLE®E 20T 6.5~8.0




AIXEIERAKE KEABRAHR(TMSE2R5)

I5H PN KU KGR B pH1E
B BB (°C) (°C) ()
1) 7K 5 -2.0 4.4 0.3 7.4
2] K 5 2.6 4.0 0.3 7.4
3| & &= -0.8 4.4 0.3 7.4
4] + 5 1.4 4.7 0.2 7.4
5/ H 5 1.8 4.6 0.3 7.4
6| A 5 0.0 5.0 0.2 7.4
7K 5 7.3 5.1 0.3 7.4
8 K 5 2.4 5.5 0.2 7.3
9] K 5 4.8 6.8 0.2 7.3
10| & 55l 2.0 6.0 0.2 7.4
11 =+ 5 6.9 5.5 0.3 7.4
12| H & 8.9 6.0 0.2 7.2
13 A 55l 8.9 6.3 0.3 7.2
14, X 5 3.5 6.8 0.2 7.3
15| 7k 5 1.0 6.5 0.2 7.1
16| K 5 -1.1 5.5 0.3 7.1
17, = 5 -2.3 5.0 0.2 7.1
18] = = 6.6 5.2 0.3 7.1
19 H 5] 7.8 5.4 0.2 7.1
200 A i 7.1 5.7 0.2 7.2
21 X 5 2.7 6.8 0.3 7.3
22| K 5 0.4 5.5 0.4 7.0
23] K 5] 1.9 5.1 0.3 7.1
24| & = 2.7 5.0 0.2 7.1
25 & 5 4.9 5.5 0.3 7.1
26/ H 5 3.9 5.9 0.2 7.1
27| H 5 0.8 5.5 0.2 7.2
28| X 5 2.6 5.5 0.2 7.2
RANE 8.9 6.8 0.4 7.4
=/ME -2.3 4.0 0.2 7.0
Fi(E 3.1 5.5 0.3 7.2
2E) AT ERKBRKEELN TR ERRLE®E 20T 6.5~8.0




AR TEAKE KEHBRAR(FTMSE1AS)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1] H = 4.4 6.6 0.3 7.3
2| B 5 2.2 6.9 0.2 7.3
3] K 5 2.6 7.0 0.2 7.3
41 7K 5 1.8 6.8 0.2 7.3
5| K 5 -1.7 6.6 0.1 7.3
6 & = 0.5 6.6 0.3 7.3
7 * 5 2.1 6.7 0.2 7.3
8 H 5 1.3 6.6 0.3 7.3
9, A 5 3.0 6.3 0.3 7.3
100 X 5 1.5 6.4 0.2 7.3
11 K 5 -1.9 6.5 0.5 7.3
12 K 5 2.1 6.7 0.3 7.3
13, & 5 2.1 5.5 0.3 7.3
14) + 5] 9.8 6.0 0.2 7.2
15| H 5 9.6 6.5 0.3 7.3
16/ R = 7.1 7.0 0.2 7.3
17 X 5 -1.1 7.0 0.2 7.2
18] 7K 5 0.1 6.5 0.3 1.2
19, K i -0.5 6.1 0.3 1.2
200 = i 2.5 5.8 0.3 7.3
21 =* &) 2.5 6.0 0.2 7.3
22| H &= -0.2 5.6 0.2 1.2
23| H = 2.7 5.6 0.2 7.3
24| K &= 2.8 5.5 0.4 7.3
25 7K 5 -3.6 6.2 0.3 7.3
26| K = -3.0 4.7 0.3 7.3
27 & = 0.7 4.5 0.5 7.3
28| & 5 -0.8 4.5 0.5 7.4
29, H 5 0.7 4.4 0.4 7.3
300 A 5 0.9 4.5 0.3 7.3
31 X 5 -0.9 4.4 0.4 7.4
=AE 9.8 7.0 0.5 7.4
B/MB -3.6 4.4 0.1 7.2
M8 1.6 6.0 0.3 7.3
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AR TXAKE KEHABRAR(FTHN4FE12A%5)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1l K i 7.0 13.0 0.3 7.2
2| = 5 4.4 11.7 0.3 7.2
3| 5 4.8 10.5 0.2 7.2
4 H = 5.9 10.3 0.2 7.1
5/ H = 8.3 10.6 0.3 7.2
6] X = 5.5 10.1 0.3 1.2
70 K 5 3.3 10.0 0.4 7.2
8 K 5 4.2 9.8 0.3 1.2
9 & i 3.2 9.6 0.4 1.2
100 £ 5 7.2 9.5 0.3 1.2
11 H 5 7.3 9.9 0.3 1.2
12| H 5 5.8 9.6 0.2 7.2
13 X 5§ 5.8 9.5 0.4 7.3
14) K i 5.8 9.5 0.3 7.3
15 K i 1.3 9.1 0.2 7.3
16, = &) 1.5 8.2 0.2 7.3
171 + 2 3.1 8.2 0.3 7.3
18| H ES 1.7 7.9 0.3 7.3
19 H i -2.4 7.4 0.3 7.3
20| X 2 0.8 1.2 0.3 7.3
21 7K i -0.8 7.1 0.3 7.3
22| N 5] 5.9 7.3 0.3 7.3
23| = i 0.7 7.5 0.3 7.3
24| + ES -1.2 6.6 0.3 7.3
25| H 5 -0.4 6.5 0.2 7.1
26| A 5 1.6 6.9 0.3 7.3
27| X = 3.5 7.8 0.3 7.3
28| 7K 5 -1.3 6.4 0.2 7.3
29 K 5 3.4 6.8 0.3 7.3
300 ® 5 3.1 7.0 0.1 7.3
31 £ = 0.9 7.0 0.3 7.3
=AE 8.3 13.0 0.4 7.3
B/MB -2.4 6.4 0.1 7.1
Ti5ME 3.2 8.7 0.3 7.3
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AEIERAKE KEHBRAHR(TMAFEI1AR)

I5H PN KU KGR BE pH1E
B BB (°C) (°C) ()
1 X 5] 14.2 13.8 0.1 7.4
2| K 5 13.0 13.2 0.2 7.3
3] K 5 14.1 13.6 0.1K7% 7.3
4 = 5 11.0 14.0 0.2 7.3
5/ L 5 10.6 13.7 0.2 7.4
6| H 5 11.8 13.6 0.1 7.4
7 A 5 8.3 13.1 0.2 7.4
8 X 5 9.2 12.9 0.2 7.4
9] K 5 7.8 125 0.1 7.4
10] K 5 9.0 12.2 0.2 7.3
11, = 5 9.3 12.1 0.2 7.4
12| =+ 5 14.7 12.2 0.2 7.3
13| H 5 145 12.4 0.2 7.3
14, A 5 12.1 12.2 0.2 7.3
15| X 5 11.4 12.8 0.2 7.3
16| 7k 5 8.1 125 0.2 7.3
17) K 5 9.1 12.3 0.2 7.2
18, = 5 9.8 12.0 0.3 7.3
19] = 5 9.2 11.8 0.1 7.3
200 H = 12.0 11.6 0.2 7.3
21| H 5 12.5 11.5 0.2 7.3
22| X 5 9.1 12.0 0.2 7.3
23| K 5] 11.1 12.1 0.2 7.2
24) K i 13.0 12.2 0.2 7.2
25 & 5 9.8 12.0 0.2 7.2
26| L i 11.8 12.2 0.2 7.2
27 H &) 12.7 11.6 0.3 7.2
28| H = 10.8 11.7 0.3 7.2
29 X 5§ 16.9 11.4 0.3 7.1
30| 7K = 14.4 12.2 0.3 7.1
RANE 16.9 14.0 0.3 7.4
=/ME 7.8 11.4 0.15R 7.1
Fi(E 11.4 12.4 0.2 7.3
2E) AT ERKBRKEELN TR ERRLE®E 20T 6.5~8.0




AIREIERANKE KEHABRAR(SFN4FE10A7)

I5H PN KU KGR BE pH1E
B BB (°C) (°C) ()
1] = 5 22.2 19.0 0.2 1.2
2| H 5 22.6 19.4 0.2 1.2
3 A &= 22.5 19.8 0.2 1.2
40 K 5 21.0 195 0.2 1.2
5 7K 5 20.6 18.7 0.2 1.2
6| K = 15.6 18.5 0.2 7.3
7| & 55 13.6 17.5 0.2 7.3
8 =+ i 18.4 16.5 0.2 7.2
9] H i 17.4 16.8 0.2 7.2
10, A 55l 15.7 16.5 0.1 7.2
11} X 5 14.2 16.6 0.2 7.2
12| 7k & 14.6 16.4 0.4 7.2
13] K = 15.9 16.1 0.1 7.3
14 = 5 19.9 16.0 0.3 7.3
15| =+ 5 22.0 16.4 0.2 7.2
16| H 5 20.8 17.0 0.2 7.2
170 A 5] 18.9 17.3 0.2 7.2
18] X 5 16.7 17.2 0.3 7.2
19] 7k 5 15.9 16.5 0.3 7.3
20 K 5 14.5 16.0 0.2 7.2
21 & 5 14.5 155 0.3 7.2
22, * 5 16.0 15.4 0.2 7.3
23| H 5 18.2 15.2 0.2 7.3
24| H 5 16.0 15.5 0.2 7.3
25| X = 9.5 15.1 0.2 7.3
26| 7K 5 11.9 14.6 0.3 7.3
27 K 5 11.8 14.4 0.2 7.3
28 = &) 13.4 14.1 0.2 7.4
29 = &) 15.6 14.0 0.2 7.4
300 H 5 12.1 13.8 0.2 7.4
31 H 5 10.8 13.1 0.1 7.3
RANE 22.6 19.8 0.4 7.4
=/ME 9.5 13.1 0.1 7.2
Fi(E 16.5 16.4 0.2 7.3

2E) AR T ERAKBRKEELEREEZERRHE(E 20E LU 6.5~8.0




AIXIERAKE KEABRAHR(TMAFIRSD)

I5H PN KU KGR BE pH1E
B BB (°C) (°C) ()
1l K Z/M 26.4 20.5 0.1 7.2
2| & 5 22.1 195 0.2 7.1
3] B8] 24.2 195 0.2 7.1
4 H 5 26.0 19.2 0.2 1.2
5/ A i 24.6 19.8 0.1K7% 7.3
6] X 5 26.7 19.7 0.2 7.2
70 K 5 26.3 20.0 0.2 7.2
8 K = 24.8 20.5 0.2 7.0
9| & & 24.1 19.7 0.2 7.1
10| =+ 5 27.1 20.3 0.2 7.1
11 H 5 26.2 21.0 0.3 7.2
12| A 5 26.7 21.4 0.1 7.1
13 X 5 24.1 21.6 0.1 7.2
14| 7k 5 26.6 21.5 0.2 7.2
15] K 5 26.1 22.3 0.2 7.2
16| & = 23.9 22.6 0.2 7.1
171 = = 26.1 20.9 0.2 7.2
18| H 5 28.8 20.6 0.1K 7.2
19 A = 28.8 20.7 0.1 7.2
20| X 5] 22.3 20.7 0.1 7.2
21| K i 22.0 19.3 0.3 7.3
22| K = 20.1 18.5 0.2 7.2
23| = 5] 20.9 18.4 0.1 7.2
24, * i 23.2 18.8 0.1 7.2
25 H i 22.3 18.6 0.1 7.3
26| H 5 22.4 18.3 0.2 7.3
27 X 5 21.1 18.8 0.2 7.2
28| 7K 5] 21.6 19.0 0.2 7.1
29| K = 22.0 18.6 0.2 7.2
300 = i 22.6 18.8 0.2 7.2
RANE 28.8 22.6 0.3 7.3
=/ME 20.1 18.3 0.15R 7.0
Fi(E 24.4 20.0 0.2 7.2
2E) AT ERKBRKEELN TR ERRLE®E 20T 6.5~8.0




AR TXAKE KEHBRAR(FTHMAESAS)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1, A 5 21.5 23.2 0.1 7.2
20 K 5 29.1 22.9 0.1K % 7.2
31 7k 5 30.3 22.5 0.1 7.2
40 K 5] 25.0 23.0 0.1 7.3
5, & 5 24.1 20.9 0.2 7.1
6| L = 25.1 22.4 0.1 1.2
71 H 5 21.5 21.6 0.2 1.2
8 H 5 28.3 22.3 0.1 7.1
9 X 5 21.9 22.3 0.1 1.2
10] K i 29.1 22.0 0.2 1.2
11, K i 29.0 21.8 0.1 1.2
12 & 5] 25.6 22.4 0.1 1.2
13| *= 5] 25.5 21.4 0.1 1.2
14| H = 23.8 21.1 0.2 7.3
15| H = 28.6 21.7 0.1 7.1
16] X &= 26.3 21.1 0.1 1.2
17) 7k 5] 24.6 21.6 0.1 7.3
18] K = 22.4 20.6 0.1 7.3
19 % &) 26.4 19.2 0.2 7.3
200 £ 2 25.8 20.0 0.1 1.2
21 H 2 25.4 19.3 0.1 7.3
22| H = 24.6 20.1 0.1 1.2
23] X 5] 24.4 20.5 0.2 1.2
24| K i 28.2 20.4 0.1 7.1
25| K &= 26.1 20.7 0.2 1.2
26| & = 25.2 20.4 0.3 7.1
27| £ 5 21.8 20.5 0.2 1.2
28| H 5 24.7 20.0 0.1 1.2
29 H 5 24.2 20.2 0.2 1.2
30 Xk 5] 22.8 20.5 0.2 1.2
31 K 5] 25.1 21.0 0.2 7.3
=AE 30.3 23.2 0.3 7.3
B/MB 22.4 19.2 0.1K% 7.1
M8 26.1 21.2 0.1 7.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AR TEAKE KEHBRAR(FTMAETAS)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1l = &) 28.2 22.4 0.2 7.3
2| L 5 28.5 21.9 0.2 7.3
3| H 5] 23.7 22.1 0.1 7.3
4 H 5] 23.3 21.3 0.1 7.2
5 X 5] 21.6 19.9 0.2 7.2
6] 7K i 25.6 19.1 0.2 7.3
70 K = 24.2 20.6 0.1FK% 7.3
8 = = 23.9 21.3 0.1 7.1
9| £ = 21.3 21.1 0.2 7.3
100 H 5§ 21.4 20.7 0.1FK% 7.3
11} H i 26.4 19.9 0.2 1.2
VAR 5] 23.0 21.1 0.2 7.2
13] K i 28.2 20.7 0.1 1.2
14 K = 26.0 20.8 0.2 1.2
15| & 5] 22.6 20.2 0.2 7.1
16| * 2 24.5 19.1 0.2 7.1
170 H 5] 22.6 19.0 0.1FK 1.2
18 H &= 25.2 18.6 0.1 1.2
19 X 5] 23.8 18.7 0.1 7.2
200 7K 5 24.4 18.3 0.1 1.2
21 K 5 25.6 19.0 0.2 7.2
22| & &) 21.4 18.5 0.1 1.2
23] & &) 27.0 18.8 0.2 1.2
24| H &) 26.0 19.1 0.1 7.1
25| A 5 21.5 19.7 0.2 7.1
26) X 5 29.0 20.0 0.2 1.2
27, 7K 5] 24.6 20.9 0.1 7.1
28| K 5 29.8 20.2 0.3 1.2
29| = 5 29.9 20.9 0.2 1.2
300 + 5 29.4 21.5 0.2 7.1
31] H 5 30.0 22.0 0.1K% 1.2
=AE 30.0 22.4 0.3 7.3
B/MB 21.4 18.3 0.1K% 7.1
M8 25.8 20.2 0.1 7.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AR TXMAKE KEHBRAR(FTHMIFEEA )

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1] K 5 19.2 17.8 0.1 7.3
2| K 5 20.8 16.6 0.1 7.2
3| & 5 21.7 17.5 0.2 7.3
4] + &) 21.3 17.0 0.2 7.3
5| H 5 23.6 18.1 0.2 7.2
6| A 5] 17.0 17.2 0.2 1.2
A i 19.4 18.0 0.2 1.2
8| K 5 19.5 19.1 0.3 7.1
9| K 5 19.9 17.6 0.2 1.2
10, & = 19.1 17.4 0.1 7.1
11 + = 23.0 19.8 0.1 1.2
12| H i 22.0 19.0 0.1 7.1
13| H = 19.7 18.5 0.1 7.1
14, X 5] 18.3 18.2 0.1 1.2
15] K 5] 16.5 17.7 0.1 7.3
16| K &= 20.8 17.3 0.2 1.2
17| & = 21.8 17.6 0.2 1.2
18] =+ = 21.4 17.9 0.1 1.2
19 H i 23.7 18.6 0.2 7.3
200 A = 23.1 19.1 0.1 1.2
21 X = 25.1 19.5 0.2 7.3
22 7K &= 23.7 19.5 0.1 1.2
23] X = 25.4 19.6 0.2 1.2
24| & 2 25.9 20.0 0.1 7.1
25| £ 2 21.9 21.2 0.2 1.2
26 H = 21.4 21.4 0.1 1.2
27 H 5 28.3 22.0 0.1 1.2
28| X 5 31.1 21.7 0.2 7.3
29 K 5 29.2 21.9 0.2 1.2
30 K i 29.1 22.2 0.1 7.3
=AE 31.1 22.2 0.3 7.3
B/MB 16.5 16.6 0.1 7.1
M8 22.8 19.0 0.2 1.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AR ITERKE KEABRAHRM(SFI4ESA D)

HE PN KU 7K BE pHIE
B B (°C) (°C) ()
1, H 5] 14.6 12.2 0.2 7.2
2| B 5 12.4 12.3 0.2 7.3
3] K 5 12.3 11.7 0.2 7.3
41 7K 5 16.5 12.2 0.2 7.2
5| K 5 17.9 12.8 0.2 7.2
6 & 5 14.9 14.1 0.2 1.2
7 * i 19.9 14.4 0.2 1.2
8 H 5 19.5 16.1 0.2 7.3
9, A 5 14.4 15.6 0.2 7.3
10] X = 12.7 13.6 0.2 7.1
11 K = 15.8 13.5 0.3 7.1
12, K = 18.2 14.0 0.2 7.1
13, & = 18.5 14.0 0.2 1.2
14) + = 20.6 15.1 0.2 1.2
15| H = 13.7 14.9 0.1 1.2
16/ R = 14.2 14.2 0.1 1.2
IV = 14.4 14.5 0.2 7.1
18] 7K &) 18.6 15.1 0.3 7.1
19, K 5 19.5 14.7 0.3 1.2
200 ® &) 17.4 13.8 0.2 7.1
21| £ = 17.9 14.6 0.2 7.1
22| H &) 18.6 14.7 0.2 1.2
23| A 5 17.4 15.6 0.2 1.2
24| & 5 19.5 16.4 0.2 1.2
25 7K 5 21.6 16.7 0.2 1.2
26| K = 18.8 17.1 0.2 7.2
27| & 5 21.5 16.8 0.2 7.3
28| & 5 21.4 16.9 0.2 1.2
29, H 5 23.9 17.6 0.2 7.1
300 A 5 24.2 18.4 0.2 1.2
31 X = 16.6 18.7 0.2 7.1
=AE 24.2 18.7 0.3 7.3
B/MB 12.3 11.7 0.1 7.1
M8 17.7 14.9 0.2 1.2
2E) B AT ERKBRNEEEH EEERFEME 20T 6.5~8.0




AIXEIERAKE KEHABRAHR(TMAELIRS)

I5H PN KU KGR B pH1E
B BB (°C) (°C) ()
1] & &= 8.5 9.5 0.3 1.2
2| L 5 10.9 9.4 0.3 1.2
3 H B8] 9.0 9.0 0.3 1.2
4 R 5 11.9 9.0 0.2 7.1
5 X i 121 10.0 0.3 1.2
6| K 5 11.9 9.7 0.3 7.2
71 K 5 11.9 10.8 0.3 7.2
8 = 5 12.7 11.7 0.2 7.2
9] t 5 135 12.9 0.2 7.2
10| H 5 16.2 12.4 0.2 7.2
11 H i 17.2 12.7 0.2 7.2
12| X 5 15.0 13.3 0.2 7.2
13] 7 5 20.6 14.3 0.2 7.1
14 K = 17.0 14.5 0.2 7.1
15| & = 16.6 14.2 0.3 7.1
16| = 5 16.0 135 0.3 7.2
171 H = 12.8 13.4 0.2 7.2
18| A 5] 12.5 12.4 0.2 7.2
19] Xk 5 135 12.3 0.2 7.2
20| 7K 5 15.8 13.9 0.3 7.1
21 K = 13.5 13.8 0.2 7.1
22| = i 175 13.7 0.2 7.1
23 * i 175 14.6 0.4 7.2
24, H 5] 15.8 155 0.2 7.1
25| A i 18.6 15.0 0.3 7.1
26) X i 19.6 16.6 0.2 7.2
27| 7K = 20.2 15.3 0.3 7.2
28| K i 17.8 13.8 0.2 7.3
29| = = 17.0 13.6 0.1 7.2
300 £ i 14.2 12.9 0.2 7.2
RANE 20.6 16.6 0.4 7.3
=/ME 8.5 9.0 0.1 7.1
Fi(E 14.9 12.8 0.2 7.2
2E) AT ERKBRKEELN TR ERRLE®E 20T 6.5~8.0




